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System of equations

Throughout the presentation, terms in bold indicate that the corresponding term is a single variable included
in the code. For instance, pv (a value) indicates that p (price) and v (volume) are separate terms, whereas pv
is a single value item. When this is done, an additional identity v = pv/p (or alternatively p = pv/v)is added
to the code. In order to save space, these equations are not shown in the document. In this version, the items
belonging to the production account (other than value added) are taken as given, so that the supply side is not
modeled. The variables p. , If5, pj’. and I{% are exogenous.



Financial institutions
Non-Fin. ! fal sttt Government Households + Rest of the
Corporations Banks Banque de NPISH world
France
Asset Liab. | Asset Liab. Asset Liab. Asset Liab. Asset Liab. Asset Liab.
Produced non- F pF B kB G KG H o H
ANF1 1 nancial assets Pi K1 P, Ky Pk, K1 P, K1
Inventories (12) + - FooF Pk, K
K K 12
ANFiz | aluables (13) Py, 12 Pk, 12 pf KL,
Non-produced non- F F B 1B G G H o H
ANFz | on ancial assets Pi Kz P K2 Pk, K2 P K2
Monetary gold and CB ~CB CB~CB
F1 SDRs pe G v G
Bills and coins HF HE H HY HR
R"efma.nc:l'ng petyveen RF RFCB RFR
financial institutions
F> Bank reserves RES RES
Govt. account at CB Do DEse
Target 2 TRGT2 TRGT2
Deposits D} D} DE DS DB D§ Df D} D} DE
Public securities ppCB,° ppeBS° py¢B, g, BE pyBC
Fs | Foreign securities p5B," ppiB " pyoRB.oH pyiB* Py B, " pR BF
Other securities pg, Bt | v5,BE | pEBE | pi®BS® ps,Bs pE,BY g, BX
F4 Loans A ¥ I3 LSE i I LR I
Domestic] Equity and
[bormestio] Bauly and | reepree| pEEE |poreefs| pBEE | pEirEf| pEEE® | pimmege PR EL PE,Ef
Fs [Foreign] Equity and I - - oG .
inv. fund shares PeiEs" PrsEs" P, Eq " PerEs" PrrEq " P& ER
issued by RoW
Insurance. pension F & G H R
Fo | funds and s. g.s. Aa AL Ai Aa Ai
Fin. derivatives and
Fr employee stock X5 XE X§ X X
options
Other accounts F B cB G H R
Fs receivable/payable Z z z Z z 4
F Financial wealth FwF FWE® FWCE FW¢ FwH FWR
B90 | Net worth WLTHF WLTH® WLTHCE WLTH® WLTHY WLTHR
Closes the column (sector) in flow Closes the row (instrument) in flow

The unwritten identity is described in Equation 271.

The closure for the government is the sector’s total indebtedness (ngBf + L), described in Equation 323




Non-Fin. Financial institutions Government Households + Rest of the
Corporations Banks Banque de NPISH world Total
France
Asset | Liab. Asset Liab. | Asset | Liab. | Asset | Liab. | Asset | Liab. | Asset | Liab.
AN, | Produced non- 105.8 6.9 52.3 169.2 334.2
inancial assets
Inventories (12) +
ANFiz2 | | luables (13) 17.5 1.1 6.5 25.1
ANE; | flom-produced non- | g3 7 7.4 38.6 169.3 309.0
financial assets
Monetary gold and
Fr | sprs 4.3 4.3 0.0
Bills and coins 0.6 0.5 10.2 3.4 5.6 0.0
Refinancing between
financial institutions 7.9 5.0 12.9 0.0
F Bank reserves 22.2 22.2 0.0
Govt. account at CB 1.1 1.1 0.0
Target 2 1.3 1.3 0.0
Deposits 28.3 97.4 2070 75 6.7 6.0 5.8 64.6 63.5 | 47.8 0.0
Public securities 1.2 221 17.4 98.1 57.4 0.0
Fs | Foreign securities 1.6 63.3 6.5 1.1 0.8 73.3 0.0
Other securities 27.6 425 67.6 5.0 1.1 0.8 45.8 0.0
Fs+ | Loans 75.2 | 122.5]| 109.7 0.2 8.3 61.3 | 448 | 37.7 0.0
[Domestic] Equity and | 194 o | 3333 | 84.6 |104.1]| 07 | 6.1 | 25.1 61.0 78.1 0.0
inv. fund shares
Fs | [Foreign] Equity and
inv. fund shares 72.9 32.8 0.1 -1.2 6.2 1108 ] 0.0
issued by RowW
Fe i’c”s“ra”ce' pension 1.8 92.5 0.2 89.4 1.1 0.0
‘unds and s.g.S.
Fin. derivatives and
F7 | employee stock 0.0 1.7 0.0 -0.1 0.0 -1.8 0.0
options
Fs | Other accounts 12.8 -3.1 0.0 05 44 147 0.0
receivable/payable
F Financial wealth -95.1 7.2 1.9 -78.4 169.4 -4.7 0.0
B90 | Net worth 121.9 21.5 1.9 13.5 514.4 -4.7 | 668.3
A-(L+B90) 0 0 0 0 0 0

Source: Authors’ calculations using data from INSEE and Webstat (Banque de France)
Note: The totals are the result of operations carried out with more than one decimal (not shown here),

therefore totals in the last line and column may differ slightly.

. Financial inst excl Households +
Firms BdF Banque de France Government NPISH Rest of the world Total
(uses
Code Item paid received paid received paid received paid received paid received paid received | -res.)
P6 Exports pxX pxX
P7 Imports PmIM pimIM
B11 Trade balance -TB TB
P1 Production peQ* poQ” poQ° peQ” P
P2 Intermediate consumption | p,ICF piclCE piclCC prclct piclCY]
B1 Value added VAF VAR VAS VA" VA
D11 Wages and salaries wf W wf wy wH wr WR 0
D12 Labor contributions LCy LCE LCS LCH LcH LCyY LCR 0
Taxes on payroll and
D29 miscellaneous taxes on TF TE TS T, TH i 0
production
D319 Subsidies on production —Sub —Sub® | —Sub’
D39 Other subsidies on —SubF —Sub? —Sub —Subt! —sub® | —sub*
production




D39 Operating subsidies —Subf" —Subf]
B2 Gross operating surplus mnr e [1T°E] [11€] [11] I
D21 Net taxes on production 1l g TF
D41 Interest Int} Intf Intf Int8 IntS? Intc? Int§ Int§ Int} IntH Inty IntR 0
D42 Di“rlt;‘:;‘:ai;:r’:e of pivf  piwf | DwE  DiwP Divs®  Dig® Div® piw# | Diwf | DR 0
D43 Re'”"f;::é:?;;";f;z: Jrect | repig - REDIE | RFDIZ REDIP RFDIE  RFDIE | o
wt | o
D45 Rents RENT; RENTS | RENT)  RENT! 0
D5 | Taxes onincome and wealth TF TE T¢E T TH TR 0
D61 Social contributions sck sck scs scy scy SCR 0
D62 Social benefits SBY SBY SBf SBH SBY SBR 0
D7 Transfers Try Trg it Trf TrH Jlini 0
B6 Gross disposable income V¢ ¢ 17 Yi Y,
P3 Consumption pécH péce pcC
B8 Gross saving SF SB S¢ sH N
D9 Capital transfers T, Trg. TT:?,, Trlg, TTI?,, Trg. 0
ps | Gros Fixed Capil pEIE phI o Pl o
P52 Changes in inventories [ P pi, It Prizliz
P53 Acquisitic\y/r;llszzliissposaIs of pﬁllﬁ; pﬁzlfg
o | Koot |y o
BINF Financing capacity FCNF FCNB 0 FCN¢ FCN*® FCNR 0
Adj Adjustment B9F - BONF AdjF Adj® Adjc® Adj¢ Adj* Adj? 0
Firms Financi;‘liz':st excl Banque de France Government Hou:’e:,l;so:’ds * Rest of the world
Flow Instrument Asset  Liability | Asset Liability Asset Liability Asset Liability Asset Liability Asset Liability
F1 Monetary gold and SDRs pEEA*GE pSEA*GE| O
F21 Bills and coins A*HF A*HE A*HCE ATHH A*HR 0
F295 Refinancing between FI A*RF A*RFCE A*RFR 0
res Bank reserves A*RES A*RES 0
gcb Govt acc at the CB A‘DjBG A‘DjBG 0
tgt2 Target2 A*TRGT?2 A*TRGT2 0
F2 Deposits A'DF A'DE A'DP A'DS® ADEE | aDg A*DS A'DY A"DR A"DE 0
F3e Public securities png‘B:‘ png‘Bf‘ pgicA”BACB‘ T png‘BfG 0
F3d Foreign securities png“B:l png”Bf‘ pgiRA‘BACB‘ png‘BfR png‘BfR P, A" BE 0
F3g Other securities ph,ABf | pE,A°BY pE A'BE | pEiATBL® P§,A"Bf ph,A By PE,A°BE 0
Fa Loans NLE AL ALE ALSE ALS AL ALE N 0
Fie | e o | PEEE pEAE | 0B pEAE? | pENES pEAEE| pEaES PHAES PEES 0
s | o
6 Insurance, psr;isc‘m funds and A AE At4B A4S Aal A AR o
7 de”::c‘fzsgg:smployee AXE axp | oaxgE AXS Axf AXF 0
il I xzf wzg xzg w7y &z 0
Net “"’”"“’;‘Si::t:f financial NAFAF NAFA® NAFAE NAFA® NAFA# NAFAR | o

NPISH = Non-profit institutions serving households
Cells in blue represent the closing items of the corresponding line

Note: The Central Bank’s financing capacity is nil; it is paid in full to the government in form of a tax (see equations 233, 234 and 282)



Firms Financial inst excl Banque de France Government Households + Rest of the world Total
BdF NPISH
(uses
Code Item paid received paid received paid received paid received paid received paid received | -res.)
P6 Exports 31.8 31.8
P7 Imports 32.8 32.8
B11 Trade balance 1.0 -1.0
P1 Production 124.8 10.1 20.9 20.8 176.6
P2 Intermediate consumption 72.5 6.2 4.9 4.1 -87.7
B1 Value added 52.3 3.9 16.0 16.8 88.9
D11 Wages and salaries 26.1 1.7 8.2 2.3 39.0 0.7 0.1 0
D12 Labor contributions 7.3 0.7 4.0 0.8 13.1 0.2 0.0 0
Taxes on payroll and
D29 miscellaneous taxes on 3.0 0.5 0.5 4.8 1.0 0.1 0
production
D319 Subsidies on production -0.9 0.0 -1.0
D39 Other subsidies on 16 0.1 0.1 04 03 | -24
production
D39b Operating subsidies -1.9 -1.9
B2 Gross operating surplus 17.4 1.1 [3.4] [13.1] 34.9
D21 Net taxes on production 11.9 0.1 12.0
D41 Interest 2.6 2.1 4.7 6.2 -0.1 0.0 15 0.1 0.6 0.6 29 3.2 0
D42 Distributed income of 83 6.8 17 22 01 0.0 03 18 3.1 1.9 0
corporations
D43 Relnveste.d e_arnlngs on direct 01 01 0.0 02 03 0.2 0
foreign investment
D44 Pro_perty |ncome. attributed 01 20 01 19 01 0
to insurance policy holders
D45 Rents 0.2 0.1 0.1 0.1 0
D5 Taxes on income and wealth 2.0 0.6 13.1 10.3 0.2 0
D61 Social contributions 0.6 1.5 16.8 19.2 0.0 0.3 0
D62 Social benefits 0.6 1.5 19.5 21.4 0.2 0.3 0
D7 Transfers 1.0 4.2 4.2 2.7 2.0 17 0
B6 Gross disposable income 12.1 12.1 0.8 0.8 24.3 24.3 62.9 62.9 100.2
P3 Consumption 23.1 53.7 76.8
B8 Gross saving 12.1 0.8 1.2 9.2 23.4
D9 Capital transfers 0.8 0.1 0.4 0.5 0.1 0.1 0.0
P51 Gross Fixed Capital 1238 12 3.7 5.8 23.4
Formation
P52 Changes in inventories 0.4 0.0 0.1 0.5
P53 Acquisition less disposals of 01 01
valuables
NP Acqu|_5|t|ons less disposals of 0.0 0.0 01 01 0.0
non-fin non-produced assets
B9N 5 g "
F Net financing capacity -0.3 -0.3 0.0 -3.0 2.8 0.8 0
Adj Adjustment B9F - BONF -0.1 0.5 -0.4 -0.1 -0.2 0.3 0
’ Financial inst excl Households +
Firms BdF Banque de France Government NPISH Rest of the world
Flow Instrument Asset Liability Asset Liability Asset Liability Asset Liability Asset Liability Asset Liability
F1 Monetary gold and SDRs 0.0 0.0 0
F21 Bills and coins 0.1 0.0 0.6 0.3 0.2 0
F295 Refinancing between FI -1.9 -0.6 13 0
res Bank reserves 0.7 0.7 0




gcb Govt acc at the CB -2.4 -2.4 0
tgt2 Target2 1.5 1.5 0
F2 Deposits 21 6.1 134 0.7 2.2 2.8 0.5 33 7.1 6.2 0
F3e Public securities 0.1 25 -0.5 3 0.9 0
F3d Foreign securities 0.0 2.9 -0.6 -0.1 0.0 23 0
F3g Other securities 1.6 0.7 3.3 0.0 0.1 -0.2 4.5 0
F4 Loans 25 5.0 3.8 0.0 0.0 3.7 2.6 0.3 0
Fse _ Domestic equity and 04 238 06 0.0 01 0.0 02 04 1.0 0
investment fund shares
F5d __ Foreign equity and 1.0 11 0.0 0.0 03 18 0
investment fund shares
6 Insurance, pension funds and 00 18 0.0 17 01 0
s.g.s.
£7 Fin. derivatives aer employee 0.0 02 0.0 0.0 0.0 02 0
stock options
F8 Other accounts 27 17 0.1 -03 0.9 18 0
receivable/payable
Net acquisition of financial 04 0.3 04 3.1 26 11 0
assets

The value of GDP can be obtained from the table above;

e By the demand approach as the sum of public and personal consumption (76.8), gross fixed capital formation by all sectors
(23.7), changes in inventories except those of households (0.5-0.1), acquisition less disposals of valuables (0.1) and exports
(31.8), less imports (32.8).

e By the income approach as the sum of wages and salaries received by households (39.0) the corresponding labor
contributions (13.1), the sum of all sectors’ gross operating surplus (34.9), taxes on income and wealth received by the
government (13.1) and a slight discrepancy (-0.1).

e By the production approach as total value added (88.9), net taxes on production (12.0) less subsidies on production (-1.0).

Firms Fma"“;:#’“ excl Banque de France Government Households + NPISH Rest of the world
Total
Flow Instrument Asset Liability Asset Liability Asset Liability Asset Liability Asset Liability Asset Liability
NFA1 Produced K{_1ApE, KE 1 Apg, K{1Apg, K{L1Apg, K1-18pks
NFA12 Inventories KF,_10pk K51 Apg,, Kip-1Apk
NFA13 Valuables Kfs_1Opf,, Kfs_1Apf|
NFA2 Non-produced K31 Apk, K31 ApE, Ki1Apg, K3l ApE, Ky_1Apys
F1 Monetary gold and SDRs GEBApEE GEApEE 0
F2 Deposits revalfy, revalp, = revalf, | revalf’  revalf] | revalj, revalf, revalfj, revalf, revalf, 0
F3e Public securities ByS,ApyS ByS,ApyS B{6Apge Bf_,Apg, B;S,AppS 0
F3d Foreign securities By Apy? By" App® By FApgon By Apgk By® Apy® B Apg)| 0
F3g Other securities Bf_,Apf, | BS.1Apf, BE.ApE, | BiZ.Apg) Bf 1 Ap§, BiL,ApE, BR_,Opf, 0
F4 Loans revalf, revalf, | revalf, revalf? revalf, revalf, | revalf, revalf, 0
Domestic equity and
F5e investment fund shares Ef_ApE, Ef_ Apk, | ES.ApE, EE.ApE, | ESEApES  EfEApg) | EX.Apg, E;L ApE, ER ApE, 0
Foreign equity and ;
Fsd investment fund shares EXu0pg) ER%,8p7 B Bpg," E4® Apgh Ej® Apgt Ef | ApE, 0
Insurance, pension funds
F6 and ... revalf, revalf, revalf{, revalf, 0
Fin. derivatives and F B cB cB H R
F7 employee stock options revaly, revalg, revaly, revaly, revaly, revalg, 0
Net financial revaluations NFRF NFR? NFRCB NFRS¢ NFRY NFRR 0
Net worth revaluations NWRF NWRE NWR®E NWRS NWRH? NWRR | K_Apy
A-(L+NWR) 0 0 0 0 0 0




Financial inst excl

Firms BdF Banque de France Government Households + NPISH Rest of the world
Flow Instrument Asset Liability Asset Liability Asset Liability Asset Liability Asset Liability Asset Liability
NFA1 Produced 1.5 0.1 1.2 1.8 4.7
NFA12 Inventories 0.2 0.0 0.0 0.0 0.1
NFA13 Valuables -0.1 -0.1
NFA2 Non-produced 3.8 0.3 2.2 7.6 13.8
F1 Monetary gold and SDRs 0.8 0.8 0
F2 Deposits 0.0 0.4 0.5 -0.1 0.1 0.0 0.0 0.0 0.0 -0.2 0
F3e Public securities 0.0 0.1 0.5 2.6 2.0 0
F3d Foreign securities 0.0 2.2 0.3 0.0 0.0 2.6 0
F3g Other securities 1.3 0.3 1.2 0.2 0.0 0.0 2.0 0
F4 Loans 0.1 0.1 -0.1 0.0 0.0 0.0 0.3 0.2 0
Fse _Domestic equity and 30.5 47.7 6.8 9.6 0.0 09 22 7.6 11.0 0
investment fund shares
F5d _ Foreign equity and 109 42 0.0 01 06 157 0
investment fund shares
6 Insurance, pension funds 0.0 50 0.0 50 0.0 0
and s.g.s.
F7 Fin. derivatives and 0.0 1.0 0.0 0.0 00 1.0 0
employee stock options
Net financial revaluations -7.6 -3.4 0.7 -0.3 13.2 -2.8 0
Net worth revaluations -2.0 -3.0 0.7 3.1 22.5 -2.8 18.5
A-(L+NWR) 0 0 0 0 0 0
Firms Fmancl;:il:st excl Banque de France Government Households + NPISH Rest of the world
Total
Flow Instrument Asset Liability Asset Liability Asset Liability Asset Liability Asset Liability Asset Liability
NFA1 Produced oCcVE, OCVE ocvé, ocvE, 0CVyy
NFA12 Inventories + valuables ocviy, ocvg, ocCvE, ocvH, 0CVgq,
NFA2 Non-produced ocvE, ocvg, ocve, ocvE, 0CVy,
F295 Refinancing between F O0CVigr oCVEE ocvE 0
res Bank reserves OCVges OCVres 0
gcb Govt acc at the CB ocv®e | ocyite 0
A A
F2 Deposits ocvE, oCVE, 0oCVE, ocvgs ocv§E ocvE, ocvg, ocvE, ocvy, OCVE, 0
F3e Public securities ocv,e oCve ocvgre oCvE, ocv,S 0
F3d Foreign securities OCV, R OCVR oCVEeR OCVR OCV,R oCVE 0
F3g Other securities 0CVE, ocvE, ocvE, ocvEs ocvE, ocvH, oCVE, 0
F4 Loans oCvVE, OCVE, oCVE, ocve ocvs oCVH OCVE, OCVE 0
Domestic equity and Frr FrRr Brr BrR CBpr CBpr GrR HER RrR
F5e investment fund shares ocv, 0CVg) oCV,f ocCVg, 0CVg, oCVg, oCV,f ocCVg,! oCV, ! 0
Foreign equity and Fr BR CBr Gr HR R
Fsd investment fund shares 0CVes O0CV;4 0CVa 0CVe4 0CV;4 0CVer 0
| X ion fund
F6 ”S”ranc:n d":’:;’" unes 1 ocvy, ocvE, ocv§, ocvH, oCVE, 0
Fin. derivatives and
F B cB G H R
F7 employee stock options 0CVy, oCvy, 0CVyy 0CVyy oCViy 0CVy, 0
Net financial other changes FOCV* FOCV® FOCV®? FOCV® Focv" FOCV® 0
in volume
Net other changes in ocvF ocv® ocver ocve ocv OCVR ocv

volume




Firms Fmanclgzl:st excl Banque de France Government Households + NPISH Rest of the world
Total
Flow Instrument Asset Liability Asset Liability Asset Liability Asset Liability Asset Liability Asset Liability
NFA1 Produced 0.0 0.0 0.0 0.0 0.0
NFA12 Inventories + valuables 0.0 0.0 0.0 0.0 0.0
NFA2 Non-produced 2.3 0.4 0.5 25 58
F295 Refinancing between FI 0.0 0.0 0.0 0
res Bank reserves 0.0 0.0 0
gcb Govt acc at the CB 2.2 2.2 0
F2 Deposits 0.0 0.0 0.0 0.0 -2.2 -2.2 0.0 0.0 0.0 0.0 0
F3e Public securities 0.0 0.0 0.0 0.0 0.0 0
F3d Foreign securities 0.0 -0.9 0.0 0.0 0.0 -0.9 0
F3g Other securities 0.0 -0.7 -0.6 0.0 0.0 0.0 0.0 0
F4 Loans -0.2 -0.4 -1.0 0.0 0.0 -0.1 03 -0.3 0
Fse _ Domestic equity and 0.4 03 0.2 -0.0 0.0 0.0 02 -0.2 0.1 0
investment fund shares
F5d __ Foreign equity and 02 -0.0 -0.0 -0.0 -0.0 01 0
investment fund shares
6 Insurance, pension funds 01 02 0.0 01 0.0 0
and s.g.s.
F7 Fin. derivatives and 0.0 0.0 0.0 0.0 0.0 0.0 0
employee stock options
Net flnan'cml other changes 0.5 18 0.0 0.2 0.0 1.0 0
in volume
Net other changes in 28 13 0.0 0.7 25 1.0 5.8
volume

Note: some rows that exhibit 0 in 2019 are not shown in the tables.

Equation 1 GDP in volume

Gross Fixed Capital Formation Trade balance

—_—_— ety
— H G F B G H F G H H _
Y= Cl4CC + IFHIB4+IS+1H 415 +I1G+1+15+ X—IM
Consumption A inventories + net val.
Equation 2 Value added, value

VA =pyY —Tp — TE + Sub + Sub®

[Reminder: Sub and Sub® appear with a negative sign in Table 4, therefore in the code they appear with a negative sign, and in the previous formula
with a positive one.]

Equation 3 Consumer price index

u_ (Y —pECt —pi1i — pl 1T — i 1§ — pi 1Y — pl, 112 — PF, 15, — pI 15 — pxX + piuIM
Pe Y—Co— [ 1P —If— 1 — 1, — 15— I —X+IM

[Reminder: Sub and Sub® appear with a negative sign in Table 4, therefore in the code they appear with a negative sign, and in the previous formula
with a positive one.]

Equation 4 Value added, firms VAS = af,(WE + LCS)
VAF = VA —VAE —VAS —vAH Equation 8 Value added, volume
Equation 5 Value added, households (VA)
va=|—
Py

VA" = all,(VA - VA48 — VA%
Equation 9 Value added, market sector (value)
Equation 6 Value added, banks
VAM = VAF + VAE + VA"
VAB = af py
Equation 10 Value added market sector, volume
Equation 7 Value added, public sector




vaM
vaM = ( >
by
Non-financial corporations

Equation 11 Wages paid

WS = wiN"
Equation 12 Labor contributions paid

LCy = BicW
Equation 13 Labor taxes

T = Brw,
Equation 14 Subsidies received

Subf exogenous
Equation 15 Profits
nF =vAF — Wp"" —LC,f —TF — Subf

Equation 16 Interests received

Fr

F
By Bat1 + Li-1)

Intf =rf(Dj_ + pgj,13551 +p
Equation 17 Interests paid
Int] = Tf(ng—lB{—l +L17 )
Equation 18 Dividends paid
Divy =¥y, 11"
Equation 19 Dividends received
Divf =Yg, Pk, Eh-1
Equation 20 Redistributed earnings on FDI received
RFDIf = RFDIIf + RFDI,‘,"' + RFDI{} — RFDI? — RFDIR
Equation 21 Redistributed earnings on FDI paid

RFDI{: = rIfDngL—lE{—l

Equation 22 Property income attributed to insurance policy holders
received

INSE = rAFAAf;,1
Equation 23 Rents paid
F _ FyAF
RENT, =rent, VA
Equation 24 Corporate taxes

TF = @E(IIF, + Intf_, — Int,’,j",1 + DivE | — Divzf,",1 + RFDIF_|
- RFDI{,‘,1 +INSF, — RENT;,l)
Equation 25 Social benefits paid
SB;’; = VprpyY

Equation 26 Social contributions received

SCF = 68 (SCH + scky

Equation 27 Miscellaneous transfers paid
TTpF = QTETPPYY
Equation 28 Disposable (corporate) income

Y = I + Intf — Int§ + Div] — Divf + RFDIF — RFDIY + INSF
— RENTf — TF + SCJ — SBE — Trf

Equation 29 Savings (self-financing)
sF=vf

Equation 30 Net acquisition of non-financial non-produced assets

NPF = gﬁpppyy
Equation 31 Capital transfers

T’”Ifr = gngerY
Equation 32 Financing capacity/need

FCNF =S¥ —pJ If = pi, 11, — NP¥ + Trf.
Equation 33 Gross investment
IF = AKF + 5,@11(1":1

Equation 34 Net produced non-financial assets, flow (accumulation
rate) - model runs with option 1

Option 1, without output gap

) om0t ()
=0.02+40.1 —01Gf — 1)
(Klp—l P1€1,1K1F—z + p]iz,leF—z

Ly
— 0.02(rf, —my) - 0.03
(1, =) (ngELF + WLTHF>

Option 2, with output gap

(A*Kf

F
1-1

Ly
= 0.03 - 0.06(F —my) — 002 bt
> (e =) (ngE{ n WLTHF>
+0.3GAP

Equation 35 Gross investment, price
Aln(pf) = 0.96A1n(py)
Equation 36 Produced non-financial assets, price
Pk, = Op Pl
Equation 37 Non-financial assets, stock
Pl KT = (1 6§ )Pk, Ki-1 + pILI] + KL, 0p, + OCVE,
Equation 38 Inventories, price
Aln(pf,) = 0.3AIn(pf,_,) + 0.6AIn(py_,)

Equation 39 Inventories, stock

Aln(K{;) = —0.01 + 0.8AIn(Kf;,_;) + 1.2AIn(vaF)
—0.6AIn(vaf,)

Equation 40 Value added by firms, volume

VAF
Py



Equation 41 Inventories, flow
P11z = Mk, Kiz2) — Kf>-10p,, — OCVE,
Equation 42 Non-produced non-financial assets, price

ln(p,’}"z) =0.86 ln(p,’ézil) +0.8 ln(p}{z) -0.7 ln(p,‘;’zfl)

Equation 43 Non-produced non-financial assets, stock (mainly
constructible land)

Pi, K5 = Pk, K5 1 + P, 15 + Ki_1ApE, + OCVy,
Equation 44 Non-produced non-financial assets, flow

1§ exogenous (close to nil)

Equation 45 Public securities held, stock
F pF
psi BAG = g VAT

Equation 46 Public securities held, stock

ocvre
A*B:G:AB:G_< BA)

Fg
Ps,

Equation 47 Public securities held, price
p;A Iplf’)s?ApBL
Equation 48 Foreign securities held, stock
Put By* = Y, VAT
Equation 49 Foreign securities held, flow

oCVrr
A*B:R — AB:R _ < Fl:A )
Py

Equation 50 Foreign securities held, price

FR _

Pg, = 1/)103,4 pBL

Equation 51 Equities held, flow (accumulation rate)

(52) =055 (o o)
E; 4 ' pIF(IKf—l + Pﬁlszzfl + pIZKZF—l

+0.02(rf,_, —my_y)

LF
+0.01 (%)
pk EF + WLTH

Equation 52 Equities held, price (i.e. CAC 40)

Frr oF, Fr gF
- Frr p FRE FR Fr pEz AR
Pe, = Pg, —F |t Pey,\ —F oF
Pe,Ea Pe,Ea

Equation 53 Equities held, stock

ocv
Ef:E§,1+A*E,{+( F )

PE,
Equation 54 Domestic equities held, stock

FrrpFrR —
Pg, E, waAPEA A

Equation 55 Domestic equities held, price

Frr _ FFRFR
Pe, —anApE
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Equation 56 Domestic equities held, flow

OCV, ™
A*E:FR — AE:FR _< Ea )

FpR
Eg

Equation 57 Foreign equities held, stock
Fr F, F,
pEﬁEAR — pEA EF pEFRE FR

Equation 58 Foreign equities held, flow

ocy/®
A*E:R :AE:R_< EA)

Fr
Eq

Equation 59 Foreign equities held, price
Aln(pgF) = —0.6AIn(pg® ) + 1.1AIn(p;)
Equation 60 Profitability of equities held

R Ef_,Apf, + Divf
Tey = F F
Pra,Eav

Equation 61 Deposits, stock

A Di =0.009 + 0.4A Di- 0.14(i )
prY = Dy 1Y Lioyrs — Ty
Equation 62 Deposits, flow
A*Df = ADf —revalf;, — OCV§,
Equation 63 Credit assets, flow
ALE A'LE_ AL ALY
2)=05( 22 ) 4 05(— =] - 03[
VAF VAF_, VAF VAF_,

Equation 64 Credit assets, stock

Ly =Li_, + L5 + revalf, + OCV,
Equation 65 Bills and coins, stock
F=yfipyY
Equation 66 Bills and coins, flow

AHF = AHF — oCVf

Equation 67 Insurance, pension funds and standardized guarantee

schemes, flow

A AL = pf VAT

Equation 68 Insurance, pension funds and standardized guarantee

schemes, stock
AL = AL+ A AR+ OCVAFA

Equation 69 Total indebtedness, stock

A( P, BLL >
Pic, K1 + Pk, K1z + Pi, K3
ngL,lBLi—l
=03A| - F F F F F
Pk, Ki-1+ Pk, K121 + Pk, K34

nr 1
+ 1.8A ( —
Pk, K2 + Pk, Ki22 + Pk, K3 >

—0.07vc_4



ve = ( ngLBL{ >
Pk, K1 + Pk, K32 + Pk, K3

HF
_7'7(FKF + ot KF + oF KE
Pk, B1-1 T Pk, 812-1 T Pk, K21
+ 3'2(i10years - T[Y)

Equation 70 Total indebtedness, flow

ocVE,
A*BILE = ABLE — ( F“‘)
BLL
Equation 71 Bonds issued, stock
F gF F  BF
(%) =09 (f”‘%) +0.0021n(pf,)
P, BL] P, BLi4

Equation 72 Total indebtedness, price

Aln(pf,, ) = 0.4AIn(ph,, . ) + 0.13AIn(pf, ) — 0.09AIn(p5, -, )

—0.05vc_,
ve = In(pf,, ) — 0.02 — 0.2In(pf, )
Equation 73 Bonds issued, price
In(p§, ) = 0.8In(p5,_, ) +0.91n(pg, ) — 0.7In(p§, )

Equation 74 Bonds issued, flow

ocvE
A*Bf = ABf —( F“)

DB,
Equation 75 Loans issued, flow
AL = pf,, A*BLY — pf, A*Bf
Equation 76 Loans issued, stock
LY = Li_y + A L] + revalf, + OCVf,
Equation 77 Other accounts payable/receivable, stock (net assets)
ZF = 0fpyY
Equation 78 Other accounts payable/receivable, flow (net assets)
A ZF = AZF —ocVf

Equation 79 Equities issued, flow; closes account of non-financial
corporations

* * * F, + pF
PEA'EL = pf 1] + pi, 112 + A"H" + A°DJ + p’ A"B°
+pgt ABYF + AL + pf A Ef + A A]
+ A XF 4+ A ZF — p§, A°B] — ALY — ST
+ NPF —Tr{ — Adj*
Equation 80 Equities issued, price

F _ gF ,FR
Pe, = HpELPE

Equation 81 Equities issued, stock

ocvE
Ef = Ef , + NEf + ( F“)
PE,

Equation 82 Profitability of equities issued

- (EfflAFp,?L J;Divi)
- P, El-1

Equation 83 Price of domestic equity (the simulations shown are with
v1)

Aln(pE®) = 0.9AIn(p;) — 0.4AIn(p;_,) — 0.5vc_; vl

i
ve = In(pER) + 9.6 — 0.81n(p;) — 2.3 ln( X 100)
£,En
FrapF Brr B CBrg CB Gra G
pgREQR — pE:REAFR + pEjREAFR + pEAFREA FR + pE;REAFR

Hpr pHrr
+pEA E,

peE4 = pi,Eh + pE E4 + pEEES® + pE ES + ph EY

FR
PE
i pﬁ:"Ef,” + pgjkEﬁ'rR + pf;f”EﬁB” + pg;REgm + pgjkEgpk "
Ef + Ef + E{P — E}*R

Equation 84 Domestic equities held by the rest of the world (at

constant prices)
R LR
EXR = (pEAEA>
A= FR
PE

Equation 85 Profitability of domestic equities

iR =

(Divlf + Div} + Ef_,Apf, + Ef,lApEL>
pE, Ei_1+DE,_Ei 4

Equation 86 Financial wealth

FWF = HF + D + p¥ B¢ + p* By* + L + p§ B + AL + X©

+ZF —pg, Bl — L] — pE,Ef

Equation 87 Net wealth

WLTH" = pi K{ + Pi, K12 + P, K5 + FWF

Households and NPISH

Equation 88 Wages paid by households
vaH = WM — pr _ vaB
Equation 89 Total wages received
WH=w + WPR —WR
Equation 90 Labor contributions paid by individual entrepreneurs
LCf = BEwW
Equation 91 Labor contributions received

LCcH :ZLC; — LCR for i=F,B,G,H,R
i

Equation 92 Labor taxes paid
T = pAw,
Equation 93 Subsidies received
Suby = ﬁSHubs,PYY

[Operating surplus of individual entrepreneurs > T = VAH —
W — LCH — T} + Sub¥]
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Equation 94 Interests received Equation 109 Net acquisition of non-financial non-produced assets
It} = rf(Df_1 + py® 1 By"; + Ph,-1Bi-1) NP" = 0ff, pyY
Equation 95 Interests paid Equation 110 Capital transfers paid
Intl = /LY, Tr,fp = 6f, .pvY
Equation 96 Dividends received Equation 111 Financing capacity/need
Div!' = Vi, PE,-1Ed1 FCN' =S¥ — pl 1% — plt 1%, — plt Iy — NP — Tl

Equation 97 Property income attributed to insurance policy holders Equation 112 Investment

received
H H YdH . H
INSH =1l AY, Aln(If') = 0.4A1n(If.,) + 0.4 Aln o)~ 0.6A(is0years — ")
1
Equation 98 Rents paid —0.4ve,
YH
RENT} = RENTS + RENTH — RENT} ve =) - 1.1-05In (p%) +0.9(is0years — 1)
1
Equation 99 Rents received 02 (AP{é)
' Pligz—1

RENTH = rent!'p}f, 1KY,
Equation 113 Investment, price
Equation 100 Income tax paid

Aln(pH) = 0.98AIn(py)
TH = 9H(VAH, + W, —WH, + LCH, — LCH, — T/, + Int, P by

—Int_, + Divi, + INSH, + RENTH, Equation 114 Produced non-financial assets, price
— RENTH.))
Aln(pl) = 0.003 + 0.8AIn(pf _,) + 0.76AIn(py)
Equation 101 Social contributions paid by workers —0.72AIn(py_4)
LCVI/J’ =gl wH Equation 115 Produced non-financial assets, stock (including housing
investment)

Equation 102 Social contributions paid
iKY = (1 - 8¢ o, Ko+ PEIY + KL DY, + 0CVE,
SC{,’ =LCH + LCVI/J’
Equation 116 Non-produced non-financial assets, price
Equation 103 Social benefits received
Aln(pf) = 0.61AIn(pf,_,) + 0.9AIn(1H) — 0.15vc_,
SBH = —SBR + ZSB;; fori =F,B,G,H,R Y
7 ve =In(pf) +9.5— 2.1In(1f,) — 1.51n (%)
Equation 104 Social benefits paid ¢
Equation 117 Non-produced non-financial assets, stock (mainly

H _ gH

SBy = GSBppYY constructible land)

Equation 105 Miscellaneous transfers received (net) ph K = pH kY |+ pH [H 4 KH ApH + OoCVE
2 274 27 a* - 2 2

— To.F B G _ 7,.B _ T.R
In' =T +Try + Ty =Ty =17, Equation 118 Bills and coins, stock

Equation 106 Disposable income HY =yl
Yil =VAY — W — LG — Tf + Sub/ + Intf! — Int}] + Divf! Equation 119 Bills and coins, flow
+ INSH + RENTH — RENT,,” +WH + LcH
—T”—SC,’,’+SB£’+TT,” A*HY = AHH — oCVH
Equation 107 Personal consumption (volume) Equation 120 Deposits, stock (mainly savings accounts)
ve WLTH! D} Di )
Aln(CH) = 0.6 Aln (LH> +0.09Aln (—H> —0.14vc_, A (—f, = 0.5A( 5 ) — 0.44(i1gyrs_y — TH4) — 0.2vC_,
Pc Pc Yg Yalq
17 WLTH" D ;
vc =1In(C*) — 0.5 - 0.861n (LH> —0.041In (—H> ve = (—’,*, = 0.9 + 1.04(is0yrs1 — TH )
Pc Pc Ya
Equation 108 Savings Equation 121 Deposits, flow
sH=yH —picH A'D} = AD} —revalfi, — OCV,

Equation 122 Foreign securities held by households, stock



Hg pH H
Pg RB F= l/}B:YdH
Equation 123 Foreign securities held by households, price

Hp _

P, l/)PBApBL

Equation 124 Foreign securities held by households, flow

ocyyr
A*B:R:AB:R_< Ba )

Hp
By

Equation 125 Other securities held by households, stock
v, Bi = YE,Yd
Equation 126 Other securities held by households, price
= VpsalPB,
Equation 127 Other securities held by households, flow

ocvg,
H

PB,

A*BY = ABY — (

Equation 128 Equities held, stock

N
A( o ”) = 1.80(rf, — ) — 0.24vc_,
d

H pH
Pe,Ea ,
ve = ( ;H ) —09-22(r# —nl) + 3.1(i10pears — TH)
d

Equation 129 Equities held, price

Hpg oH Hg H
u pE:REAFR u pE,fEAR

PE, = Pea\ —apr | T Pes |~
Pe,Eq Pe,Ea

Equation 130 Equities held, flow

ocvh
AE} = AE} — ( H“)

PE,
Equation 131 Profitability of equities held by households
o (Ej’,lApEIA + Divﬁ)
H o=
4 PgA,lEgA
Equation 132 Domestic equities held by households, stock

Hpgr EH FR

Pg, £ = =Yy PEA "
Equation 133 Domestic equities held by households, price

HpR FR

iR = niERpE

Equation 134 Domestic equities held by households, flow

ocv,ier
A*EI:'IFR — AE:IFR _ < Eq )

HEpRr
Eq

Equation 135 Foreign equities held by households, stock

REHR — FREHFR

Per PE,E4 — Py

Equation 136 Foreign equities held by households, price

Hp
P, exogenous
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Equation 137 Foreign equities held by households, stock

oCVr
A*EfR:AEfR—< Eq )

Equation 138 Insurance, pension funds and standardized guarantee
schemes, stock

Al Al .
Al =5 ) =0.27A + 0.02A(DepRatio,y)
Yd Yd 1
+ 0.3(i10years — ma) + 0.1(rfl — )
—0.15vc_;

AH
ve = (Y—f1> + 2.7 — 0.13(DepRatioyy)
d

DepRatio,;,; = dependency ratio, old

Equation 139 Insurance, pension funds and standardized guarantee
schemes, flow

«AH _ ApH H H
A*A; = AA, —revaly, — OCV,,
Equation 140 Loans, flow; closes account of households

AL = pf 1 + pfl 1, + AHY + A'DY + pytAB® + pli A'BY
+ pi, AEY + ATAY + A ZH — SH + NPH
+Trfl — Adj"

Equation 141 Change in inventories

pi, 11, exogenous

[Note: this is the sum of Changes in Inventories and Acquisition less
disposals of valuables p52+p53, see Table 3]

Equation 142 Loans, stock
=1, + ALY +revalfl +0CVH
Equation 143 Other accounts payable/receivable, stock (net assets)
" =ylipyy
Equation 144 Other accounts payable/receivable, flow (net assets)
A ZH = AzP —ocv)

Equation 145 Financial wealth

FWH = H" + D + py"BY* + p}i B + pfl EY + Al — 1} + 2"
Equation 146 Net wealth

WLTH" = p§ K¥ + p§t ,KY, + pX K15 + pi,KY + FwH

Financial institutions

Equation 147 Wages paid by banks
B _ ., ,BNB
Wy =w, N
Equation 148 Labor contributions paid
LC) = BEcWy’

Equation 149 Labor taxes paid



TP = AW,
Equation 150 Subsidies received
Subf = ﬁsBubrPYY
Equation 151 Profits
8 =VA5 - VI/pB - LC,‘,"' —TF + Sub?
Equation 152 Interests paid
Inty = rf(Df-y + P§,-1Bi-1) + 7csRF-4

Equation 153 Interests received

Int? = Int}, + Int} + IntS® + Int] + Intf + Intk — Intf5 — Intf
— IntS — IntH — IntR

Equation 154 Dividends paid
Divy = ygy, 1"

Equation 155 Dividends received

Divf = Vgivrpg,,quq
Equation 156 Redistributed earnings on FDI received

RFDI? = TEDIAPEAAE,%A
Equation 157 Redistributed earnings on FDI paid

RFDI;? = rIFDngL—lEE—l

Equation 158 Property income attributed to insurance policy holders
paid

INSE = st;’ fori =F,G,H,R
i

Equation 159 Corporate taxes

T8 = 0F(I1%, + IntB_, — Int5_, + DivE_, — DivE_, + RFDI?_,
— RFDIE_, — INSE_))

p
Equation 160 Social contributions received
SCE = 65.(SCH + scF)

Equation 161 Social benefits paid

53;’;3 = QEBPPYY
Equation 162 Miscellaneous transfers received

Trf = B%prY
Equation 163 Miscellaneous transfers paid

TTpB = GﬁrppyY
Equation 164 Disposable (corporate) income

Y = I1® + Int? — Int? + Div} — Div} + RFDI? — RFDI? — INS5
—T® +SCP — SBE +TrP — Tr?

Equation 165 Savings

SE=v}
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Equation 166 Net acquisition of non-financial non-produced assets
NP® = 05ppyY
Equation 167 Capital transfers received
Trkl’gr = G%prY
Equation 168 Financing capacity/need
FCN® = S5 — pP 1§ — NP5 + Tr§

Equation 169 Investment (accumulation rate)

1B 1B,
—— | =0.02+09(-—
() o020 i7)

Equation 170 Investment, price

Aln(pf) = —0.01 + 1.1AIn(py)

Equation 171 Produced non-financial assets, price

Aln(pg) = 0.4AIn(pE ;) + 0.7AIn(py)
Equation 172 Produced non-financial assets, stock

pi, KT = (1 - 6F )pk,_ K1 + PP 1T + KEAp, + OCVE
Equation 173 Non-produced non-financial assets, price
Pk, = YpePK,
Equation 174 Non-produced non-financial assets, stock
Pk, K3 = Pk, K31 + PR, I3 + K& ApE, + OCVE

Equation 175 Non-produced non-financial assets, flow

IZ exogenous (close to nil)

Financial institutions, other than the central bank

Equation 176 Bills and coins, stock
H® = YfipyY
Equation 177 Bills and coins, flow
A*HB = AHB — oCVE
Equation 178 Loans, flow; closes the row of the instrument
AL} = ALY + AL + ALY + pf LT — AL — pP A°LE — A°LGP
Equation 179 Loans, stock
1§ =15, + N°L5 + revalf, + OCVE,

Equation 180 Loans, revaluation effects (closes reval for this
instrument)

revalf, = revalf, + revalf, +revalf + revalf —revalf,

—revalf, — revalf?



Equation 181 Loans, other changes in volume (closes OCV for this
instrument)

OCVE, = OCVE + OCVE + OCV + OCVE — 0CVE, — OCVE,

—0CVeE

Equation 182 Financial derivatives and employee stock options, flow;
closes the row of the instrument

AXP = NXJ + A XGP + ATXE + AXf — AXE
Equation 183 Financial derivatives and employee stock options, stock
XP =XP  + A XE + revalf, + 0CVE

Equation 184 Financial derivatives and employee stock options,
revaluation effects (closes reval for this instrument)
revalx = revalx + reval$® T revalXA + revalx - revalx

Equation 185 Financial derivatives and employee stock options, other
changes in volume (closes OCV for this instrument)

OCVBL = OCV,fA + OCV + OCVXA + OCVX - OCVX
Equation 186 Deposit holdings, stock
Df = yfpyY
Equation 187 Deposit liabilities, flow
A*D} = AD§ — revalf, — OCV§,

Equation 188 Banks absorb all public debt securities available (model
runs with v1)

* B * «pCB
pB”AB”—pBLABG pB Wl

B xx B B B
Py GA G — 035 ij lA BAfl
224 ' Py-1Y_1

-5 GA*BFG _ pBGA*BRG 1

. e ANEER_;
+23 (fayra — 5+ m)
Equation 189 Public debt securities held, stock
Bg Bg Bg VBIZG
B, =B, +A'B,° + g
Ba

Equation 190 Public debt securities, price

Bg
pBA = 1/JBAPBL

Equation 191 Foreign debt securities held, flow (accumulation rate)

A*BPR A*BPR
( 332 ) = 0.65( B’;:l> — 3.1(iTer_y — LT _))

A-1 A-2

Equation 192 Foreign debt securities held, stock

oCVR
sie = st s+ (2555

Pg,
Equation 193 Foreign debt securities held, price

iQ

B B,
Br _ Bp1 Ba1 .
pr = (B ) pBL E (B )Ap for i = F,CB,G,H

BA1 i BA1

Equation 194 Demand for other securities

15

ANEER,1>

B *NB
pg,A*By (AY) (
Ea” AN _ 06 0.6r5 — 0.6
( DyY v )+ oo “1 7 NEER,,

Equation 195 Other debt securities held, flow

ocvg
Bf =Bf ,+ABf + ( 5 A)

PB,

Equation 196 Other securities held, price
Aln(pg,) = 0.2aIn(pg, ) + 0.7AIn(p§,)

Equation 197 Equities held, flow (financial accumulation rate)

AEP ANEP |
(E,‘il> =0.03 + 0.4( 7 +0.05(rf,_, —my_y)

Equation 198 Equities held (domestic + foreign), stock

ocvE
Ef =Ef  +NEf + ( 5 A)

PE,

Equation 199 Equities held, price

BFR BFr BR Bp

pg _pBFR Pg, E +pBR pEA A
=P E

4 4 pEAEA 4 pEAEA

Equation 200 Profitability of equities held

R EF Apg, + Divf?
Tey = B B
Pe, Ea-1

Equation 201 Domestic equities held by banks, stock
Brp B Br B
p FRE FR_pEAEB pRER
Equation 202 Domestic equities held by banks, flow
OCVEIZFR>
B
Pe,"

Equation 203 Domestic equities held by banks, price

A*Ef” — AEEFR _ <

Brr _ ., BFR.,FR
Pe, = Mpg,PE

Equation 204 Foreign equities held by banks, stock

PEERT) 05 + o (iR ) g (ANEER)
PE,Ed ' ©\Pi,Ed1) — \NEER,

Eg

Equation 205 Foreign equities held by banks, stock

OCVE'ZR>
B
Pi,

Equation 206 Foreign equities held by banks, price

AESR = AESR — (

Aln(p,’jﬁlQ = 0.5A1In(py)

Equation 207 Bank reserves, flow; closes the account of financial
institutions excluding the central bank (this version runs with option
1)

Option 1 (QE, 2007-)



A'RES = A'RF + A'Df + p§,A*BY + p§ A'E}
+A*AZ- (A'DF + ppéA'BLC + pprA*BL"
+pg, 0B + A'LE + pf AES + AXE
+AZ8 + pP 1§ — S® —Trf + NPP + Adj®)

Option 2 (no QE, 1992-2006)
A*RES A*DE
() - 1o 5
RES_, D,

Equation 208 Bank reserves, stock

RES = RES_, + A*RES + OCVE¢
Equation 209 Bank deposits, flow; closes the row of the instrument

A*Df = A*Df + A*DS® + A*Df + A*Df + A*Df + p§,A"D}

- p5,A"Df — A*'Df® — A*Df
Equation 210 Deposit liabilities, stock
Df =D, + A*Df + revalf, + OCV§,

Equation 211 Deposit liabilities, revaluation effects (closes reval for
this instrument)

revalf = revalfy, + revalf, + revalf? + revalf, + revalf],

+ revalgA - revalgL — revalf? — revalfj,

Equation 212 Deposit liabilities, other changes in volume (closes OCV
for this instrument)

OCVE = OCVE, + 0CVE, + OCVSE + OCVE, + OCVE, + OCVE,
- OCVE — OCVDL - ocvg,

Equation 213 Debt securities issued, closes the instrument

p8,A"BE = p§,A"BE + pEiA'BS® + p§, A'BS + ph,A'BY
+ p§,A"BY — pp,A"B]

Equation 214 Debt securities issued, price

ApEL:—( 5 > BL+Z(BL >ApBA for i = B,CB,G,H,R
1

Equation 215 (Other) debt securities issued, stock

ocvE
Bf =B ,+A'BP + ( B“)
DB,

Equation 216 Other securities held, other changes in volume (closes

OCV for this instrument)

OCVE = 0CVE, + 0CVEP + 0CVg, + OCVE, + OCVE, — OCVE,

Equation 217 Insurance, pension funds and standardized guarantee
schemes, flow; closes the row of the instrument
A AP = A*AE + A*AS + A*AY + A AR

Equation 218 Insurance, pension funds and standardized guarantee
schemes, stock

Af = AF_, + A*Af + revalf +0CV]
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Equation 219 Insurance, pension funds and standardized guarantee
schemes, other changes in volume (closes OCV for this instrument)

ocvg = Z ocvi, for i=F,G H,R
i
Equation 220 Equities issued (closes the block equities) > model
runs with option 1

pELA*EB — pEmA*EFm + pEFRA*EBFR + pCBFRA*ECBFR
+ pEFRA*EGFR + pEFRA*EHFR + pEAA*EA
_ PELA*EF pEBA*ECB 1

pELA*ELB PEL,IA*EE—l AKS,
—— ] =10.25 +0.2 F v2
pyY Py-1Y-1 Ki,

Equation 221 Equities issued, stock

ocvE
Ef = Ef, + N'Ef + ( B“)

PE,

Equation 222 Equities issued, other changes in volume (closes OCV for
the instrument)

OCVE = OCVSF® + OCVZFR + OCV,L PR + OCVFR + OCVIFR

+ OCVE — 0CVE, — 0Cvg?
Equation 223 Equities issued, price
pEL = egstgR
Equation 224 Profitability of equities issued

- = (Ezilipg J;Div{f)
Pe,_,Ei1

Equation 225 Other accounts receivable/payable, stock
ARS 1/) Pyy
Equation 226 Other accounts receivable/payable, flow
A ZB = AZB —ocvyf
Equation 227 Financial wealth

FW® = HE + RES + D§ + pp°B° + py"B," + p}, B + 15
+pE,Ef + X; + 25 — RF — Df — pj, B}
- pE,EL - A}

Equation 228 Net wealth

WLTH® = p§ K% + p%,, K%, + PR, K3 + FWE

Banque de France

Equation 229 Interests paid
t$? = regRES_, + 1p(DLE¢ + DB
Equation 230 Interests received
IntC® = r.gRF_; + 1¢TGT2_; + rpDSE,

+15(pp S By¢ + ppliBL R + p§E, BSE,)
+ iLTer B



Equation 231 Dividends paid
Divg? =y g, pg, SELA
Equation 232 Dividends received
Divf® = ygivrplgf—lE/L;El
Equation 233 Profits
M = Intf® — Int 5 + Divf® — Divg®
Equation 234 Taxes paid to the government
TCB — [ICB
Equation 235 Central bank deposits held by the government
DfBG — chs
Equation 236 Central bank deposits assets, stock
D" = y§ipyY
Equation 237 Central bank deposits liabilities, stock
DE” = y§lpyY
Equation 238 Central bank deposits (assets and liabilities), flow
ADfP = AD{® —revalf? — OCVSP  for i=AL
Equation 239 Central bank deposits assets, other changes in volume
oCV§, f = arorresOCVrorrEs
Equation 240 Bills and coins, flow;, closes the row of the instrument
A*H = A*HF + A*HP + A"HY + A*HR
Equation 241 Bills and coins, stock
H=H_,+A"H+ 0CVy

Equation 242 Bills and coins, other changes in volume (closes OCV for
this instrument)

ocvy = Z ocvy for i=F,B,H,R
i

Equation 243 Public bonds bought by the central bank (QE), flow

CBg r+ pCB cB,
PBAGA B, ¢ = VBAGPYY

Equation 244 Public bonds bought by the central bank (QE), stock

CBg

CVCBG
R
By

Equation 245 Price of public bonds bought by the central bank

CBg _ .,CBG. G
P, = Yppa PB,

Equation 246 Foreign bonds bought by the central bank, stock
CBR pCB CB
P, "By " =Yg, “DyY

Equation 247 Foreign bonds bought by the central bank, flow
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CBR

A*B{PR = ABSPR — (
Ps,

CB
0CVy, R)

Equation 248 Price of foreign bonds bought by the central bank

CBg _ | CBr, R
P, = Yppa DB,

Equation 249 Other bonds bought by the central bank (QE), flow
PE,A"BS = vE,pyY
Equation 250 Other bonds bought by the central bank (QE), stock

06V,§f>
pCB

By

B5® = B{E, + A"B§P + (

Equation 251 Other bonds held by the central bank, price
Py = Vigal5,
Equation 252 Purchase of bank credit, flow
NI = yElpY
Equation 253 Purchase of bank credit, stock
L = LE +A7LGE + revalf? + OCV(?
Equation 254 Refinancing, flow (this version runs with option 1)
Option 1 (QE, 2007-)
A*RF = A*RFCB — A*RFR

Option 2 (no QE, 1992-2006)

ARF = A'RES — A'Df — p§ A"B} — pg N'E} — A" A
+ (A"DF + ppiA B¢ + ppiA By
+pj,ABS + ALY + pE AER + AXS
+AZ8 + pP 1§ — S® — Trf + NPP + Adj®)

Equation 255 Refinancing, stock

RF = RF_, + A*RF + 0CViy

Equation 256 Refinancing, other changes in volume (closes OCV for
this instrument)

OCVgzr = OCVEE — OCVE.
Equation 257 Refinancing by the central bank, flow
A*RFCP = @iEpyY
Equation 258 Refinancing by the central bank, stock
RFCB = RFC5 + A"RFCB + OCVEE
Equation 259 Domestic equities held, flow

CBpR A+ CBFr _  CBFR
pg, NE;T = op oy

Equation 260 Domestic equities held, stock

CVCBFR
R R
Ea
Equation 261 Domestic equities held, price

CBrr
Pe, exogenous



Equation 262 Foreign equities held, flow
[4:] CB B,
P, "AE, " = @5, "pyY
Equation 263 Foreign equities held, stock

CBR

VECBR
it it e (S
Ea

Equation 264 Foreign equities held, price

CBr
pg," exogenous

Equation 265
prA*ECB — pE RA*ECBR + prFRA*ECBFR
Equation 266 Other accounts payable/receivable
Z58 exogenous
Equation 267 Equity issued, stock

BECB

PE, exogenous

Equation 268 Equity issued, flow

CcB
A*ECB AECB (OCVEL >

CB
EL

Equation 269 Equity issued, price

pEl = @E®pER

Equation 270 Net wealth = financial wealth
WLTH®® = FWCP = pPG® + RF® + TRGT2 + DS® + pg B
n pCBRBCBR + p BﬁB + LCB + pCBECB
+ X§B + 758 — H — RES—DFP¢—DSB
- PEEL”

Equation 271 Central bank’s accounting equilibrium (system’s
unwritten identity)

pEEAGCP + ATRGT2 + A'RFB + A*DSP + pBen*BPe
+pe A B + pEAtBEE + A LS
+ pCBA*ECB
= A'H + A*RES+ADFB+A" D¢ + pSPA*EFE
+ Adj?

Government

Equation 272 Wages paid by the public sector
G — ,GNG
Wy =wy N
Equation 273 Labor contributions paid
LCE = BEWif
Equation 274 Labor taxes paid
Tlf; = BgLWpG

Equation 275 Labor taxes received
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T, = ZT;’ —TR for i=F,B,CB,G,H
[Operating surplus of the public sector > 11 = VA® — W,% — LCy —
TS + Subf]
Equation 276 Subsidies on production
Sub = &, VA
Equation 277 Value added taxes
T? =yrpVA
Equation 278 Interests received
Intf = 1(Df_; + p§,Bji_1) + oD, Dg%¢
Equation 279 Interests paid
Int] = e (Df_, + Pgr131€71 + 1§ )
Equation 280 Dividends received
Divf =y§y, P, Ei-1
Equation 281 Rents received
RENTS = rentf p§, K5 ,

Equation 282 Income taxes received

T= ZT" for i = F,B,CB,H,R

Equation 283 Social contributions received

Scf =scl +5€5—ZSC; for i = F,B,R

Equation 284 Social benefits paid
SBy = 055, pyY
Equation 285 Miscellaneous transfers paid
Try = ﬂ'lqrppYY
Equation 286 Disposable income

Y =VAS =W — LCS — Tf + Subf + Tp + Intf — Int§ + Dive
+INSf + RENTS + T + SCf — SBS — Trf
+ T, + Sub + Subf’ + TCB

Equation 287 Current public spending (collective and individual)
cC =By
Equation 288 Price of current public expenditure
Aln(pg) = 1.02AIn(pH)
Equation 289 Savings (current public balance)
5 = ¥§ - pce
Equation 290 Capital transfers paid
Tr,?p =Trf, + Trg +Tr — Trf —Trf

Equation 291 Acquisitions less disposals of non-financial non-
produced assets



NPC = BippyY
Equation 292 Financing capacity/need
FCN® =S¢ — pf 1§ — pf, 1T, — NP® = Trg,
Equation 293 Investment
If = Biy
Equation 294 Investment, price
Aln(pf) = 1.1AIn(py)
Equation 295 Produced non-financial assets, price
Aln(pg,) = 0.3AIn(pg, ;) + 0.6AIn(pf)
Equation 296 Produced non-financial assets, stock
pi,K§ = (168 )k, KT 1 +pE,IT. + KL10pE, + OCVE,
Equation 297 Non-produced non-financial assets, price
K, = 1/11(7;,(22911?2
Equation 298 Non-produced non-financial assets, stock
Pi,KS =P, K5 1 +pi,I5. + K0P, + 0CVE
Equation 299 Government’s account vis-a-vis the central bank, stock
D =y VA
Equation 300 Government’s account vis-a-vis the central bank, flow
A*DjCB — ADjCB _ OCVD(;CB
Equation 301 Deposits received by the government, stock
Df =y, (D — hm)

Equation 302 Deposits received by the government, flow

A*Df = ADf —revalf, — OCVS,
Equation 303 Deposits, stock

Df = yf, VA

Equation 304 Deposits, flow

A*'D§ = AD§ —revalf, — OCV§,
Equation 305 Foreign securities held by the government, stock

PatBa" = ypipyY

Equation 306 Foreign securities held by the government, flow

oCySr
A*BXR ZABXR—< BA)

Equation 307 Foreign securities held by the government, price

GR _

Pt = Yy, ok,
Equation 308 Other securities held by the government, stock

pgABg exogenous
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Equation 309 Other securities held by the government, flow

OCVBGA>

G
Ps,

A*Bf = ABf — (
Equation 310 Other securities held by the government, price
Pp, = wgBAng
Equation 311 Equity held, stock
PEEG = YE,pyY

Equation 312 Equity held, price

G Gr -G
pS = pGFR pEFRE ™ + PGR pEj:EAR
4 Ea pEAEA pEAEA

Equation 313 Equity held, flow

G
PE,

ocvg
AES = AES — (—“)

Equation 314 Domestic equities held by the government, stock

GrRr EGFR —

Pg, ¢EP£A

Equation 315 Domestic equities held by the government, flow

OCV,F®
A*E:FR — AEEFR _ < Ea )

GFR
Pg,

Equation 316 Domestic equities held by the government, price

Aln(pEFR) = 0.4AIn(pER®) — 0.5vc_,

ve = ln(pEFR) +0.32 - 0.3In(pfR)
Equation 317 Foreign equities held by the government, stock

Gr ;G Grr G,
pRER_pEAEA pFRE FR
Equation 318 Foreign equities held by the government, price
Gr
Pg, exogenous

Equation 319 Foreign equities held government, flow

OCV, R
A*E/;?R — AEER _ < GERA )
Pey

Equation 320 Profitability of equities held

c Ef Apg, + Divf
Tey = ¢ G
pEA,lEA—l

Equation 321 Financial derivatives held by the government, stock
X§ =g vAS
Equation 322 Financial derivatives held by the government, flow
A'X§ = AXF — reval§, — OCVY,

Equation 323 Total public indebtedness, flow; closes the account of
the government



P, ABLE = A'D; + A'D§ + p§ A*BS, + pgiA By + pf,A"E§

+ A A§ + AXS + A Z6 — A'DE + pf IS
+pf 1§, — SO+ Trg, + NPC — Adj¢

Equation 324 Public bonds (model runs with v1)

1
In(pg§,) =—039+0.1In (r—5> vl
L

p§, exogenous V2

Equation 325 Total public indebtedness, stock

ocngL>
ngL

Equation 326 Total public indebtedness, price

BLS = BLS_, + A"BLS + (

Aln(pfy,) = 0.8201n(pf,)
Equation 327 Bonds issued, stock
p5,Bf = v§,ph,BLY {= w5, (p5,Bf +L7)}
Equation 328 Bonds issued, price
p§, exogenous

Equation 329 Public debt securities held, other changes in volume
(closes OCV for this instrument)

OCVE = OCV;¢ + 0CVy T8 + OCV© + OCV,©

Equation 330 Bonds issued, flow

ocvE
A'Bf = ABf — ( G“)
DB,
Equation 331 Credit demand, flow
ALf = ngLA*BLL pB A'Bf

Equation 332 Credit demand, stock
L§ = Li_, + A°L§ + revalf + OCV

Equation 333 Insurance, pension funds and guarantee schemes,
stock

A§ = YipyY
Equation 334 Insurance, pension funds and guarantee schemes, flow
A*A§ = AA§ —revalf, — OCVS,
Equation 335 Other accounts payable/receivable, stock
Z8 = PipyY
Equation 336 Other accounts payable/receivable, flow
A*Z6 = AZS — OCV§
Equation 337 Financial wealth

FW® = D + Df + pgRBs* + p§, BS, + p§,E + A§ + X§ + Z€

-Df - pBLBL - Lf

Equation 338 Net wealth
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WLTHE = p§ K§ + pf K, + pi, K5 + FWE

Rest of the world

Equation 339 Labor contributions paid
LCF = PR

Equation 340 Import taxes (on value added), paid as a fraction of
imports

TF = 9¥PP1MIM
Equation 341 Wages paid
W exogenous
Equation 342 Subsidies
5ub§ = ﬁsRuprYY
Equation 343 Interests received
It} = rf(DL 1+PBA 1Ba’s + P, 1BE 1 + 15 )
Equation 344 Interests paid
mt? =rR(DR, + p,1BE1 + LE_1) +1eTGT2_,
Equation 345 Dividends paid
Div}f = ygiurpgl_,lEf—l
Equation 346 Dividends received

Div? = Divf + Div} + Div§® + Div? — DivF — Divf — Divf®
PG i H
— Divy — Div,’

Equation 347 Reinvested earnings on FDI paid
RFDIR = r-? pR _ ER
p = TepiPE —1EL-1
Equation 348 Reinvested earnings on FDI received
R
RFDIF = 175, P8, 1Ef 1

Equation 349 Property income attributed to insurance policy holders
received

INSE = rfAAﬁ,l
Equation 350 Import duties (paid on foreign income)
TR exogenous
Equation 351 Social benefits received
SBf = ﬁssrpyy
Equation 352 Social benefits paid
SBR ﬁSBppYY
Equation 353 Social contributions received
SCR = 68.(SCH + sck)

Equation 354 Exports of goods and services (volume)



Aln(X) = 0.3AIn(X_,) + 0.4AIn(Y") — 0.2A1n (;’—X) —0.14vc_,

X+

ve =n(X) = 1.7 — 0.6In(Y) + 051n (;’")

X+
Equation 355 Price of exports of goods and services
In(py) = 0.03 + 0.5In(py.) + 0.3 In(py)
Equation 356 Imports of goods and services (volume)
Aln(IM) = 2.2AIn(Y) + 0.5vc_,
vc = In(IM) — 1.81In(Y) + 0.2In(p;y,) + 8.5 — 0.01¢
Equation 357 Price of imports of goods and services
Aln(p;y) = 0.12AIn(p;y_1) + 0.7AIn(ppsy) — 0.45vc_y
ve = In(p;y) — 0.6 In(pysy)
Equation 358 Financing capacity/need — (—) current account

FCNR = pyyIM — pxX + WX — WR + LCK — LCR + TR — Sub®
— Subf + T + Intf — Int§ + DivF — Div}
+ RFDIX — RFDIX + INSR — TR 4+ SCR
+SBR + TrR + Tr,?p -Tr

FCNR = pyyIM — pyX + Opoy + Wk — WR + LCR — LCR — SubR
+ Tr,?p - Tr,?r

Equation 359 Unwritten equilibrium of goods and services with the
rest of the world (S — I — Current account = 0)

ZFCNi =0 fori=F,B,GH,R
i

Equation 360 Bills and coins, stock (0 before 2002)
HR = nypyY
Equation 361 Bills and coins, flow
A*HR = AHR — oCVE

Equation 362 Deposits held by foreigners, flow (accumulation rate)

A*DR AY
= 2.9(—)+2('9 — Py +
(D/f,l) VAR

Equation 363 Deposits held by foreigners, stock

ANEER,1>
NEER_,

DR =DF , +ADF + 0CV,§A
Equation 364 Refinancing, flow
A*RFR exogenous
Equation 365 Refinancing, stock
RFR = RFR, + A*RFR 4+ OCVE;
Equation 366 Public debt securities held by the RoWw, flow

A*BFe A*BFS, AY
) = 0.04 - 0.14 ( —AL ) 4+ 2.2 (Y—)
B BR®,

A-1 -1

ANEER )
NEER_,

+3.9 (iloyr — il 4

Equation 367 Public debt securities held by the RoW, stock
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ocvge
B nft s e+ ()
Pp,
Equation 368 Public debt securities held by the RoW, price
iG

BS. B ;
ApgS = (Bg;> Ap§, - Z (;{;) Apg for i=F,B,CB
i

A-1 A-1

Equation 369 Other debt securities held by the RoW, flow

A*BX A*BE | AY
| =034 ——]+22 (—)
Ly B, Y,

+3.1 (iloyr — il 4

ANEER )
NEER_,

Equation 370 Other debt securities held by the RoW, price
P, = MpgaPF,

Equation 371 Other debt securities held by the RoW, stock

ocvE
Bf =B, +A'Bf + ( R‘“)
PB,

Equation 372 Loans held by the RoW, flow

A*LR AY
—2)=10.03+1.2 (—) +1.3 (i”cr — LT 4
Lyq Yy

ANEER )
NEER_,

Equation 373 Loans held by the RoW, stock
LR =158_, +ALE + OCVL‘:

Equation 374 Domestic equities held by the RoWw, flow (includes
inward FDI)

AY.,

AL =0.04 + 0.05(r% )+06
E§71 =0.04 + 0. Tg, — Ty + 0. Tz

Equation 375 Equities, flow-stock

OCVR
AE} = A"E} +( R A)

PE,
Equation 376 Equities held by the RoW, price
B AW ,
Apf, = Z (ER Apg, — Z El; L Apéff for i
A-1 A-1

i J
=F,B,CB & j=F,B,(CB,GH

Equation 377 Profitability of equities held by the RowW

R ER Apg, + Divk
TEy = R R
Pe, Ea1

Equation 378 Insurance, pension funds and standardized guarantee
schemes held by the RoW, stock

Af = narpyY

Equation 379 Insurance, pension funds and standardized guarantee
schemes held by the RoW, flow

A*A§ = AAE — OCVS,

Equation 380 Financial derivatives and employee stock options, stock
(net)

X5 =ng,pyY



Equation 381 Financial derivatives and employee stock options, flow
(net)

A XR = AXR — OCV}?A
Equation 382 Deposits received by the RoW, stock
Df = Dy + A*Df + revalf, + OCVS

Equation 383 Deposits received by RoW, closes the rest of the
world’s account

A*DR = A*HR + A*DF + pB”A*BR“ + pBAA*BA + AT LR + pEAA*ER
+AA% + A" ZR — Adj® — FCNR — pGBA G
— A'RFR — pf A"Bf — AL} — pf AET
—A*XR
Equation 384 Debt securities issued by the RoW, flow; closes the line
foreign debt securitities
pE,ABE = piPraBEPR + pa*A'BRF + piRA'BLF + pf, A" B
+ pBRA*BHR
Equation 385 Debt securities issued by the RoW, price (xr = bilateral
€/$ exchange rate)
PB, = Pg *XT

Equation 386 Debt securities issued by the RoW, stock

0CVE
Bf = Bf, + A"Bf + ( R‘”)

DB,

Equation 387 Debt securities issued by the RoW, other changes in
volume (closes OCV for this instrument)

OCVE :Zocvgj for i= F,B,CB,G,H
i
Equation 388 Credit demand by the RoW, flow (accumulation rate)
(A*L‘f) 19 (AY*)
L}z—l Y

Equation 389 Credit demand by the RoW, stock

L} =18, + A Lf + revalf, + OCVE

Equation 390 Foreign equities held by domestic agents, stock
(includes outward FDI)

OCVR
Ef = Ef, + NEF + ( R“)

PE,

Equation 391 Foreign equities held by domestic agents, flow
(includes outward FDI), value

PRAER = pifAELF + pptAELR + pritAESPR + ppt A EGK
+pRrAEL"

Equation 392 Foreign equities held by domestic agents, flow
(includes outward FDI), volume

A ER
wip = (P2

Pk,
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Equation 393 Foreign equities held by domestic agents, other changes
in volume (closes OCV for this instrument)

OCVE =" 0CV%  for i = F,B,CB,G,H
i

Equation 394 Foreign equities held by domestic agents, price
(includes outward FDI)
iR

E,
Ang:Z(E >Ap for i= F,B,CB,G,H
-1

Equation 395 Profitability of equities issued by the Row

5 = (Eztlipz +RDiv,§>
Pe,_,Ei1

Equation 396 Target 2

TRGT2 exogenous

Equation 397 Monetary gold and Special Drawing Rights, stock

ocvEE
G =G + "G + ( = )
Pe

Equation 398 Monetary gold and Special Drawing Rights, flow

CBA*GCB

pé exogenous

Equation 399 Monetary gold and Special Drawing Rights, price
Aln(PE?) = 0.5AIn(pyeiq) — 0.5vc_,
ve = In(pE¥) — 0.981n(py01)
Equation 400 Other accounts payable/receivable, stock
ZR = ZR + A*ZR + OCVE

Equation 401 Other accounts payable/receivable, flow; closes the
instrument

AZR = —ZA*Zi for i= F,B,G,H

Equation 402 Other accounts payable/receivable, other changes in
volume (closes OCV for this instrument)

oCV) =—ZOCVZ‘ for i = F,B,G,H

Equation 403 Net wealth

WLTHR = H® + p§ DR + RF® + pgSB,° + p§ B + L% + p§ Ef
+ AR+ XR + Z° — pSPGCE — pf DF
— TRGT2 — p§ Bf — L} — pf E}

Prices, wages, employment and interest rates

Equation 404 General price index

Aln(py) = 0.01 + 0.4AIn(ULC) + 0.3GAP + 0.03AIn(p;p_1)
— 0.4vc_y

vc = In(py) — 0.4 — 0.91In(ULC)



Equation 405 Unit labor costs, market sector

M M Hym M
ULCMz(W +LC +LCWp +TL>

vaM

Note: LCM = LCE + LCE + LCfl and TM = Tf + T + T/ and
14 14 14 P
Lew,™ = gl w™

Equation 406 Wages paid, market sector
WM = wMNSu

Equation 407 Total wages paid in France
w=w"+wf

Equation 408 Employment in the market sector (salaried + non-
salaried)

AIn(N™) = 0.5AIn(NM) + 0.5AIn(va™) — 0.08vc *_,

Ve *

In(va™) — 0.8 — 0.5In(K{") — 0.014t + 0.01¢t;90,

:ln(NM)_( 1-05

Equation 409 Non-salaried workers (total household employment =

salaried + non-salaried), market sector
NNS — NM — NSM

Equation 410 Salaried employment, share of total employment
(market sector)

NS
In (N—M> = 3.9+ 0.009t — 0.01¢5000-2015

Equation 411 Firms’ workers
NF = NM — NB — NH
Equation 412 Total employment
N =NM 4+ N€¢
Equation 413 Salaried workers, households
NHs = NH — NNS
Equation 414 Public sector (i.e. non-market sector) workers
NS = NV exogenous
Equation 415 Banks and households workers
Ni=yiNM™ for i=B,H
Equation 416 Wage per worker, market sector
Aln (113/_511:> = Aln(wM)
= 0.005 + 0.5AIn(w™) + 0.4AIn(p¥)

vaM va,
+ 0.43A1n N —0.38A1n N

-1

—0.2vc_4

vaM
ve = In(wM) — 0.9AIn(pY) + 0.11n(w) — 0.7A1In (N_M>
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Equation 417 Wage per worker paid by firms
Aln(wf) = 0.4AIn(w)_,) + 1.01AIn(w™) — 0.4AIn(w™,)
Equation 418 Wage per worker paid by banks
Aln(w?) = 1.06AIn(w™) — 0.17vc_,
ve =In(wf) +1—1.12In(w™)
Equation 419 Wage per worker paid by the public sector
Aln(w§) = 0.45AIn(wS ;) + 0.53AIn(w™) — 0.17vc_,
ve =In(wf) + 0.2 — 1.02In(w™)

Equation 420 Output gap

vaM — vaPM
gap =
vaP™

Equation 421 Potential output; potential value added in volume
(model runs with option 2)

Option 1

Option 2

1

vaM’ KM
In (75 ) = 08+ 0.5In( iz ) + 0.014¢ = 0.01t105 000

M M

Equation 422 Produced non-financial assets of the market sector,
stock

K = K{ + K + K{!
Equation 423 Unemployment (number of unemployed)
U=AP—-N

Equation 424 Unemployment rate

“= ()

Equation 425 Active population
Aln(AP) = 0.4AIn(N) + 0.4AIn(TAP) — 0.2vc_,
vc =In(AP) — 0.37In(N) — 0.56 In(TAP) — 0.002t
Equation 426 Interest rate received by firms
¥ =3.6 + 0.63r¢
Equation 427 Interest rate received by households
i = 1.6+ 0.57¢
Equation 428 Interest rate paid by firms

=16+ 0.7i10yrs
Equation 429 Interest rate received by banks

P = 0.4+ 0.578; + 04150y
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Equation 430 Interest rate paid by banks Equation 435 Interest rate on credit, long-term
2 =09+ 0.9i10yrs iLTer = 0.93i10ys
Equation 431 Interest rate received by the government Equation 436 Interest rate on deposits, short-term
rf =25+ 1.6r¢ 75 = 1.4 + 0.57¢
Equation 432 Interest rate paid by the government Equation 437 Interest rate ECB
7f = 0.9 + 0.85i10yrs Te =Tep
Equation 433 Interest rate paid by households Equation 438 Long-term interest rate, 10 years (OECD)
H = 0.9i10yys iMer = 0.93i30yr

Equation 434 Interest rate received by the rest of the world

R_; R
14 = lioyears T Kry

Exogenous parameters and variables

Note: exogenous parameters change over time (thus, they do not have a single-value), depending on the values of the variables of the
corresponding equations they belong to. Example, a4 (in Equation 5) is calculated as aff, = VA" /(VA — VAE — VA%), so that the
parameter varies across periods. In the projections, they are given the last value.

H B oG pF pF F F _F _F F gF ,F gF gF gF gF gF oF Fc Fr o FrR _FFR 4 F 1 F oF goF pH pH
@ya, Ayar Ay a, Bre Bris Yaivy» Yaivy TFDD Ty TENLp, or, VsB,» Osc gTer QNPp- 071k, Oprr Oy I/)pBA' Yr2 Yppa Wppa Mpe, Vi, Ya, 07, GPEL' Brc Bri»
H . H _H HoH pH pH pH pH sSH H oHr yHR ,H H _HFR o H pB pB pB B B B .B B nB pB B
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Simulations

Observed vs simulated

Figure 1 GDP and components

Observed vs baseline, simulations start in 1996 solved with Newton’s algorithm

The graphs for behavioral equations (py, C*, I, A*KF, X, py, IM, p;),) display the observed series (blue) and
the simulated series (red). The graphs of the remaining series (mainly the identities Y, pyY, p?, GAP and other
ratios) display observed left-hand side of the equation (blue), observed right-hand side (red) and simulated
series (green).
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Scenarios

Figure 2 Scenarios vs baseline (shocks start in 2021)

Baseline series compared to after-shock series (%), simulations start in 2019 solved with Newton’s algorithm

Top left > 1% increase in firms’ accumulation rate / 5% increase in household consumption / 5% in wage per worker
growth

Top right = permanent 1% increase in the interest rate (10 year treasury & ECB rate + 10 year)
Middle left = 5% of GDP increase in public investment (permanent + one-shot)

Middle right = 5% of GDP increase in helicopter money with public investment (permanent + one-shot) / 5% of GDP
recapitalization

Bottom left 2 15% of GDP public debt cancellation (pure v 5% of GDP increase in public investment)

Bottom right = 5% of GDP increase in helicopter money (pure v CB transfer to the government v 5% of GDP increase in
public investment v social benefits)
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— Government wealth GDP, scenario 1% of GDP increase in HM + tr C8 to govt (one shat) - baseline (%)
—+— Gowernment wealth GDP, scenario 1% of GDP increase in HM + public investment (one zhot] - baseline (%)

—a— Government wealth GDP, zcenaro 1% of GDP increase in HM + zocal benetits (one zhot) - baseline (%)



40

Central bank wealth (%)

.05
0.0
0.2
0.4
0.6
0.8
-1.0
-1.2
19 20 21 22 23 24 25 26 27 28 29 30 4
19 20 21 22 23 24 25 26 27 28 29 30
—— Central bank wealth-GDP, scenario 0.25% increase in firms accumulation rate {one-shot) - basedfine (%) Contral bank wealth GDP, zeenan 1% Increase in 10y7 Interest rate (permanant] - baseling (56
—— Central bank wealth-GDP, scenario 1% increase in household consumption {one-shot) - basedine (%) Central bank weslth GDP, scenario 1% increase in ECB rate + 10yr interest rate (permanant) - baseling (%)
—+— Central bank wealth-GDP, scenario 1% increase in wage per worker growth {one-shot) - basedfine (%)
: 0
-0
-2
-4
-2
—_———— .
-3 -6
-4 -8
-5 -10
-6
-12
-7 19 20 21 22 23 24 25 26 27 28 29 130

18 20 21 22 23 24 25 26 27 28 289 30
— Contral bank wealth GDP, scenaria 1% of GDP increase in HM + public investment (one shat] - baseline (%)

—— Contral bank wealth GDP, scenario 1 % of GDP increase in HM + public investment (permanent] - baseline (%)

—— Central bank wealth-GDP, scenario 1% of GDP increase in public investmeant {one-shot) - basedine (%)
—+— Central bank wealth GDP, scenarko 5 % of GDP incrase in HM with recapitalization of C8 (permancent) - baseline (%)

—— Central bank wealth-GDP, scenario 1% of GDP increase in public investment (permanent) - baseline (%)

00
]
2 -02
. -04
-5
-06
-B
-10 -08
12 Lo _3;'_5‘232‘52.
e 12
-16 19 20 21 22 23 24 25 26 27 28 29 130

18 20 21 22 23 24 25 26 27 28 28 30
— Contral bank wealth GDP, scenario 1% of GDP increase in Helicopter Mancy (HM) - baseline (%)

— Contral bank wealth GDP, scenarko 1% of GDP increase in HM + tr C8 to govt (one shot) - baseline (%)
—+— Contral bank wealth GDP, scenario 1 % of GDP increase in HM + public investment (one shot] - baseline (%)
—a— Contral bank wealth GDP, scenario 1% of GDP increase in HM + z00l benefits (one shat) - baseline (%)

—— Central bank wealth GDP, scenand 15% of GDP, ane zhat public debt cancelation (pde) - baseline (%)
—— Central bank wealth GDP, scenario 15% of GDP, ane shot pdc + parmanant incr in publ inv - baseline (%)



